Summer Assignment: IB Math Studies

School Year 2019-2020
Deadline: First Day of School

Each assignment can count as an extra 10 pts on a Quiz Grade

· You MAY use the internet, textbooks, notes, etc. to solve the problems

· You MAY NOT use other people for help 

IB Math Studies




Name _____________________

Summer Assignment 1
Solve the following for x:
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Solve for b in terms of x (caution: x will be in your answer)
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Solve the following inequalities:
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Solve the following word problems:

10) Sea water contains 8% salt.  How many kg of fresh water should be added to 50 kg of sea water for the mixture to contain 3% salt?

11) DW and Arthur go to the same school and leave home at the same time.  DW likes to walk to school, which takes her 20 minutes.  Arthur rides the bus and it takes him 5 minutes.  If the bus is 20 mph faster than walking, how far is their school from home?
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EXTRA CREDIT:
Use the diagram to answer the questions.  Hint:  Similar triangles have proportional sides.


a) Express DC in terms of x.

b) Find the value of x.

IB Math Studies – Geary



Name _____________________________ 

Summer Assignment 2

Number Sets, Sig Figs, Error, Linear Equations

Matching:  Match only one letter with each number. 

1)  _______
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A. {… , -2 , -1 , 0 , 1 , 2 , …}
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Give the number of significant figures for each of the following:
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Put the following into standard form (scientific notation).  Leave 3 significant digits.
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9) Write the following using inequality notation.  Use the variable 
[image: image28.wmf]x

.

a)  
[image: image29.wmf])

9

,

7

[

-


_________________________
d)   (-53, 42)      _________________________

b)  
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e)   (-∞, ∞)     ___________________________

10)   The measurements of this classroom are 30ft. 3 in. wide, 8ft. 10in high and 23ft. 4in. wide.  Using this information find the following:  

Give units where appropriate, and use 3 significant figures for all answers

a) volume (true) = _________________________

b) volume calculated after rounding to the nearest unit = _________________________

11) Find the x and y intercepts of the line 
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x-int=________________









y-int=________________

12)  Given the number 3,785.03874, round to: 

a) Nearest Unit: __________________
b) Nearest 100: _____________    

c)   Nearest 1000: _________________
d) 3 DP: ______________________

13) Solve the following systems of equations.
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14) A linear equation has an x-intercept of 6, a y-intercept of -2, and passes through the point ( a , -4 ).  Find the equation of the line in the form of 
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Equation:_____________________________








            a=______________________________

Solve for x:
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Solve the following inequalities:
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Fill in the blanks:

1) A horizontal line has a gradient of _______________.

2) Gradients of perpendicular lines are ______________.

3) A vertical line passing through 
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Give an equation in slope-intercept form for the line described:
4) Passing through 
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5) Perpendicular to a line containing 
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